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 4th Semester Examination
BOTANY (Honours)
Paper : GE 4T
[CBCS]
Full Marks : 40 Time : Two Hours

The figures in the margin indicate full marks.
Candidates are required (o give their answers
in their own words as far as practicable.

(Plant Anatomy and Embryology)
: Group - A
- Answer any five of the following : 2x5=10
1. What is sunken stomata? What is its function? 1+1
2. What is nucellus? Write its function. 14
3. Draw and label the structure of anther. 2

4. Write differences between meristematic tissue and
permanent tissue. - _ 2

5. What is epidermis and cuticle? 2

6. What do you mean by annual ring? Why are annual
rings formed? _ 1+1
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What do you mean by double fertilization? 2
Group - B

Answer any four of the following : 5x4=20

. What is cross pollination? Give example. Write the

function of vascular cambium. 2+1+2=5

What do you mean by embryo sac? Draw and label the
ultra structure of mature embryo sac. 2 3=5

Discuss the Histogen theory of structural aa<m_%5.9: of

shoot apical meristem with suitable diagram. 5

What is mr_ome What is its function? Write the
difference between heart wood and sap wood. 1+1+3=5

Write a brief note on the different types of stomata. 5

Define polyembryony with example. Write the
physiological adaptations of xerophytic plants.  2+3=5

Group - C
Answer any one of the following :  10x1=10

Diagrammatically describe the different types of ovules
in plants. 10

What is endosperm? Write two functions of w:ao%m:s.
Discuss the mechanism of fruit and seed dispersal by
wind. 26
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(Plant Physiology and Metabolism)
Answer any five questions : 2x5=10

1. Name the complexes that are associated with the electron
- transport mechanism in the light reactions of
photosynthesis. 2

2. What is the name of the only trace element which is
present in a vitamin and what is the name of the vitamin?
0

3. Differentiate between active and passive transport. 2.
4. What do you mean by dual activity of ‘Rubisco’? 2

5. Mention the substrate level phosphorylation step of TCA

cycle. A 2
6. Under what circumstances RQ of plant tissue may
become zero and infinity? 2
7. Write down the full forms of NAA and 2, 4-D. 2

8. Mention the role of critical day length in flowering. - 2
Group - B
Answer any four questions : 5%4=20

9. What is water potential? Do you think that water
potential gradient is the only driving force for osmosis?
Justify your answer. . 1+4=5
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plants? Why is transpiration called a necessary evil?
, 1+4=5

. Describe the process of nitrate assimilation in plants. 5 .

Distinguish between macro and micro elements, citing

examples. Describe briefly the role played by Calcium
and Molybdenum in the physiology of plants.  1+4=5

Discuss the role of cytokinin in cell division and
senescence. : : 5
Discuss the role of ABA in aozims@ and drought stress.
5

Group - C
Answer any one question : 10x1=10

Mention the similarities and dissimilarities between CAM
and C4 plants. Describe the organic acid metabolic
pathway in CAM plants. How many ATP molecules are
required for the fixation of two molecules of Co, 3_\ 4
plants? 4+4+2=10.

What are phytochrome and cryptochrome? How does

- phytochrome regulate :oinabm in short-day and long-

day plants? Give a brief account on the role of low
temperature on flowering. 2+4+4=10
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